
Growing Electric Power by Tesla Tornado Circuit.

Review on Electromagnetic (=EM)Circuit Theory.
⑴Current distribution j(x,t) determine all the EM field intensity.
A(x;t)=μ dr3‧j(r,t-R/c)/4πR....<R=|x-r|>,←□A(x;t)=-μj(x,t)...wave equation of vector potential.

{B=curlA,,E=-∂tA;;H=μ-1B,,D=εE}.←current j(x,t) determines whole field intensity.

⑵Current Decision by Current Distribution Equation.
j(x;t)  μ-1  A(x;t)=    d 3<j(r;t-R(x r)/c)/4πR(x r)>.
Now it is calculated by linear multi dimensional simultaneous equation by EM field simulator 

⑶Energy of whole EM Field<U=energy of {EM field(photon)+charge particle in potential}.
U(t)= dx3(ED+HB)/2+ dx3(ρφ j‧A)
＝ dx3(ED+HB)/2 μ dx3 dr3<j(x,t)‧j(r,t-R/c)>/4πR).

THE EXPERIMENT.
Also author once accomplished more power generating than inputting one by FlyBack
Circuit with flat Tesla Spiral Coils(=SPC).η＝(output power/input one)is about 105～
110%(light bulb 19,38Watt),however,at now he can not by something unknown. Thereby it
becomes you who can accomplish the re-observation.
Part :THE PHYSICS BASIS(THEORY with some observed important phenomena).
❶ENERGY CONSERVATION LAW in this whole UNIVERSE:

0=Positive Matter Energy―Negative “Attraction Force”(Gravity)Field Energy.
http://www.777true.net/Energy-Creation-Process-from-QED-to-QGD.pdf
+plus energy is gotten by Growing Attraction Force by parallel running currents inSPC.

❷Power Equation: “How much we can get growned power ?!”

U(t)=0=P-N= dx3(ED+HB)/2- dx3( j‧A)
=P0+ΔP－μ dx3 dr3<[j(x,t)+Δj]‧[j(r,t-R/c)+Δj]>/4πR.
*A realized whole field energy at time=t by current distribution=j(x,t).
ΔP caused by growned Δj is available positive energy.

❸”Growing” Electric Power by Tesla bi-filer Spiral Circuit(with 2λResonance?).
In actual weak intensity observation,the strongest resonance in Spiral Circuit have automatically
realized “growned”parallel running currents of negative energy with generating positive one.

Thus our task is how to “grow sufficient current” without suppressing elements !!!
It may be strong one shot pulse exitation,or sinusoidal resonance exitation ??

WARNING:Tesla coil experiment could be haazardous to your health !!!.
http://arizonaenergy.org/News_13/News_Apr13/TeslaCoilsforDummies.html

http://www.777true.net/Energy-Creation-Process-from-QED-to-QGD.pdf
http://arizonaenergy.org/News_13/News_Apr13/TeslaCoilsforDummies.html


 polarity of SPC and the Non-Linearity !!:
Clockwise current(CW) and counter CW(=CC)one in SPC has different response intensity
(observation).Note any natural LC(not chemi-con)R two port circuit elements has no polarity.
Thus SPC can not be linear response element,but non-linear one.
☞:It is well known that ordinal EM field(Quantum Electromagnetic Dynamics=QED)is linear,but not
non-linear.Thereby we can not help,but employ QGD(of±energy separation reaction by Quantum Gravity
Dynamics the non linear gauge field dynamics).

 Amplitude(current intensity)dependence of SPC circuit response.
We need larger current,then we would encounter sudden non linear transition ??!! 

 General telling,a “Spiral Structure” has mysterious power to growing,or evolving
something,galaxy,tornado,crystal,plants,DNA(?). current input(cc)

2R
curlH＝j(x,t)＋∂tD. → curl(kH)＝kj(x,t)＋∂t(kD).
Gathering H at “tornado center” grows current !!.

Out
Tesla Spiral Coil(=Tornado Effect Circuit)
Below is clock wise bi filar winding from center to outer circle,while the original picture is
counter clock wise, which is inconvenient in actual right hand winding.

http://arizonaenergy.org/News_13/News_Apr13/TeslaCoilsforDummies.html

L2 coil
CC current direction from
outer circle to inner one

CW current direction

The aim of bi-filar winding is
making paralell current
generating attraction force(of
negative energy)between A(inner
circle)and B(outer circle)lines.

L2 is essential
coil,while L1 is
trrigering current one
located in outer circle
of L2 in original Tesla
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http://arizonaenergy.org/News_13/News_Apr13/TeslaCoilsforDummies.html


⑷2λresonance in “Tesla bi-filer Spiral Circuit of 1dimensional model”<x=coil length coordinate>

x=l x=2l

x=0 x=l
r=0 r=R

Above current distribution is a realizing parallel running current(with input-output port at
r=0.r=2l)generating negative energy.
l=λ=12.5m,(25m)→c/λ=f0=(3x108m/s)/11m(25m)=27.3MHz,(12MHz).
These are the strongest resonance in actual observation !!.
2l=22m:  27.1/27.27MHz=0.99.<wave length contraction rate>.

2l=50m   11.1/12.5MHz=0.89

L1(SGin):L2(200Ωout);
L1(SGin):L2(∞Ωout);
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❹Almost Wild Estimation on Possibel Output Power by Power Equation.
Our most concern is how much power we can get !!.Following is not exact calculation,but
mere almost wild estimation in order to simply see how much about degee.Current are
simply assumed grwoned one,

❷Power Equation: “How much we can get power ?!”

U(t)=0=P-N= dx3(ED+HB)/2- dx3( j‧A)=P－μ dx3 dr3<j(x,t)‧j(r,t-R/c)>/4πR.
*A realized whole field energy at time=t by currents distribution=j(x,t). P is available one.
⑴A simple calculation example of an inductor
L=400μH with max current I=1A in a cycle(fR=10kHz)
U= dx3(H‧B)/2=μ dx3 dr3<j(x,t)‧j(r,t-R/c)>/4πR＝LI2/2=400μH(1A)2/2=0.2mJ,
 P=fRU=2W.
 Averaged Value Therem in Integration.
U= dx3G(x)=G(x*) dx3=G(x*)V....U=(integral volume) x <somewhere value of G(x)>
G(x*)=( dx3G(x))/ dx3.

U= dx3 (x;t)A(x;t)=(μ0/2) dx3 dr3< (x;t)‧ (r;t-R(x-r)/c)>/R(x-r).
=(μ0/2) < (x;t)‧ (r;t-R(x-r)/c)>/R(x-r)  dx3 dr3.

unkown × unkown × known
By anyhow,author put some possible value to unkowns to see U value.

⑶{coil wire length=25m bifiler winding,weire φ 2.3mm,  dx3 dr3.
SPC diameter=0,4m,inductanceL(100Hz)=400μH}

⑷A≡(μ0/2)=2πx10-5H/m.
⑸B≡ dx3 dr3= SPC conductor wire volume 2 [25mxπ(0.002.3/2)2]2.
⑹C≡almost wild esimation of the function < (x;t)‧ (r;t-R(x-r)/c)>/R(x-r)
 (1/2)[( A/π(0.002.3/2)2)( A/π(0.002.3/2)2)/<R(x-r)>.......paralell current component
―( A/π(0.002.3/2)2)( A/π(0.002.3/2)2)/<R(x-r)>].......anti-paralell current component
*1/R(x*-r*)=(1/2)[1/<R(x-r)>―1/<R(x-r)>]
⑺EM Field Energy(current interaction potential)<U>=ABC
=(1/2)[2πx10-5H/mx[25mxπ(0.002.3/2)2]2x( A/π(0.002.3/2)2)( A/π(0.002.3/2)2)/<R(x-r)>]
=(1/2)[2πx10-5H/mx[25mx]2x( A)( A)/<R(x-r)>=0.04/<R(x-r)>]
=0.02/<R(x-r)=0.2m>―0.02/<R(x-r)=0.25m>=20mJ...    

If we take repeating frequency fR=10kHz,P=10kHz×20mJ=200W...    

鈴木基司 2022/2/11.




